Consecutive Integers

Solve the following consecutive integer problems.

1) Find three consecutive integers such 2) Find three consecutive integers such
that the sum of the first and third that the sum of the first and twice
is 72. the third is 93 more than the second.

3) Find four consecutive integers such 4) Find three consecutive integers such
that twice the second is equal to that three times the third is 102 more
the fourth. than the sum of the first and second.

5) Find three consecutive integers such 6) Find three consecutive integers such
that the sum of the first and second that the sum of the second and the
is equal to the third. third is 99.

1) 35, 36, 37 2) 45, 46, 47 3) 1,2,3,4 4) 97,98, 99 5) 1,2,3 6) 48, 49, 50



